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1. Answer the following questions : 1x7=7

(a) What type of pollinium are produced
by most of the orchids and milkweeds?

(b)) What is parasexual hybridization ?

() What are the ruminate endosperm ?
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(d) What is callose deposition during
microsporogenesis ?

(e) What is pollen viability ?
() What is endothelium ?

(g9 What are hypostases ?

2. Answer the following in brief : 2%x4=8

() What do you mean by Gametophytic
self-sterility and Sporophytic-self
sterility ?

(b) What are cybrids ?

(0 What do you mean by double
fertilization in angiosperms ?

(d) Distinguish between self-incompatibility

and male sterility.

3. Answer the following questions briefly : (any
three) 5x3=15

(a) Write a note on NPC system of pollen
classification.
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(b) Describe the causes of polyembryony.

(c) Write the differences between dicot and
monocot embryo development.

(d) Write the adaptations of hydrophilous
flowers.

(e) Write a note on storage and germination
of pollen grains.

4. Answer the following questions :

(a) Describe the microsporogenesis and
microgametogenesis process with
suitable diagram. 10

Or

Draw and describe the dicotyledonous:
embryo and its development. 10

(p) What are the different types of
endosperms ? Describe the endosperm
haustoria found in different
angiosperms with suitable diagram.

2+8=10
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(b) Describe the causes of polyembryony.

(c) Write the differences between dicot and
monocot embryo development.

(d) Write the adaptations of hydrophilous
flowers.

(e) Write a note on storage and germination
of pollen grains.

4. Answer the following questions :

(a) Describe the microsporogenesis and
microgametogenesis process with
suitable diagram. 10

Or

Draw and describe the dicotyledonous-
embryo and its development. 10

() What are the different types of
endosperms ? Describe the endosperm
haustoria found in different
angiosperms with suitable diagram.
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Or

e What ,is,self—incompa_.'tibility ? Describe

the. different methods to overcome self-
. incompatibility in plants. 10
(c) Elaborate the causes and applications

7 . of apomixis in plants. 10
Or

Describe the fertilization process

startin'g from the entry of pollen tube
into the ovule. 10
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L ;An8wer- as direeted Do | 1x7=7
(a) Wthh one of the followmg is having
highest osmotic pressure P

(1} Xe‘rop'hytes
(i) Halophytes
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i) 'Lithephytes -
iy Mesophytes
. (Choose the correct optzon)
(b) Swellmg of wooden doors durmg rainy
~season is dueto
(i) .endosmosis
(i) imbibition
(iii) capillarity
~(iv) deplasmolysis _}
(Choose the oorrect optlon) A

(c) The amount of soil water available to ‘_
plant absorption is called .
(Fill in the blank)

o ?d) Whlch of the followmg statements is
wrong ? :
(i) Guttatlon takes place at mght

| (ii). Guttation takes place through
' ~ hydathodes.

(@) Guttation is a reguiat;ed
mechanism. S

(i) Guttation takes place in grasses.:
(Choose the correct option)
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(e} Due to deﬁc:ency of Wthh element the '

grey speck d1sease of oats occur ?
() Auxin-B ovas first isoleted by
@) Yabuta and Sumiki
(i) Miller and skpog |
(i) Kogl and Thimann
.(iv) Kogl, Eﬁdeben and Haagen-Smit |
. (Choose' the correct o’ption)‘
(g) Fi’owéfiﬁg in'd}uc'ed}b'y.f :_c'o‘ld: }txl'eat'r_r;ent- is .
“known as ) |
s vemahzatlon |
(i) bhotopeﬁodiefn :
(iii) scenescenc::e

(iv) cryoblology
(Choose the correct option)
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2 Wﬁte ‘brielly .on".the- fdllovﬁ_n’g T ~--25<4='8 o
) ,uk.(a)‘ ‘Osmotlc theones of actwe absorptlon o

‘ of water

' '(b)‘- Deﬁmency symptoms due to lack of

molybdenum E
(c) : Ethylene on fl'mt ‘npenmg
: _v'(d:) _,.Apoplast
3 erte Brieﬂy o‘xl tl'le following : (ény three)
| | © 5x3=15
- (a) Metlio’d of ‘breaking of._seed. dormallcy

“_"i(-b)”.‘Rdle of .pl_lyto'chrome pigment in

photomoiphogenesis‘ |

(o) ‘Cohesion-tension theory of ascent of

- -sap
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‘(d) Cntena for essentlahty of mmeral. -

elements
' fe) Brassinosteroids. .

,. 4. Ahsy;'er the folldﬁf{hg Quesfion‘e“:--' _10><3=3O N

() iDescribe the theoiy of proton;&anSWn 3

'and hormonal regulatlon on opemng' |

and closmg of stomata Descnbe the

role of antltranspnra,nts.v ‘_ : 7 7l-3=10
~ Who p'ropes'edvthe term ,‘phdto-
g periodism’ ? 'Wl'iat do you mean by long—

<

e day and short-day plants ? Wnte a :
‘descnptlve note on florigen concept
‘1+(2+2)'+5=1o 4
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‘ (b) How are minéral salts available fér
| .".plant absorptmn ? Descrlbe the
. cytochrome pump hypothems (with
f dlagram) for mmeral salt absorptxon
What ‘_are the ma_‘]_ovtj" dgments ‘1n the
‘ thc§1y ?. | S .. - 3+5+2=10
Oor

" What are the experimental evidences

© you suggest in support of the fact that = .

‘the' translocation of_ sugar takes place‘
thrpugh phloem tissue. Explain the :
M‘unch hypothesis with diagram.

| 3+7=10

(c) Describe the physiological role of auxin

and gibberellins. ~ 5+5710
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or

Name - two naturally occ.uring’
cytokinins. Descrlbe the role of
' ytok1n1n on . cell d1v1smn,
_-morphogenes18, retention of chlorophyll :

pigments and nucleic amd metabolism.

2+8—10“
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